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Note : This question paper has three Sections. 

Attempt the questions as per instructions in 

each Section. 

Section—A 

(Long Answer Type Questions) 
Note : Attempt any two questions from this Section. 

2×20=40 

1. Explain the concept of national disposable 
income. How are national disposable income 
and personal disposable income estimated in 
India ? 
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2. Explain the concept of environmental 
accounting. What are the main objectives of 

environmental accounting ? Point out the major 
approaches to environmental accounting. 

3. Define national capital and describe its main 

components. What are the problems that arise 
in its estimation ? Discuss. 

4. What do you mean by economic welfare ? In 
what ways do the changes in size, composition 

and distribution of GDP affect economic  
welfare ? Discuss. 

Section—B 
(Medium Answer Type Questions) 

Note : Attempt any four questions from this 
Section. 4×12=48 

5. What do you mean by services sector ? What 
are its constituents ? How do you measure 
contribution of this sector to GDP in India ? 

6. What is the problem of double counting ? 

Illustrate with examples. Does it arise in 
income method as well ? How do you avoid it ? 
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7. How do you estimate the contribution of India’s 
unorganised sector to the national income ? 
Explain. 

8. Distinguish between market and non-market 
services.  

9. Explain the circular flow of economic activities. 

10. Define flow-of-funds system of accounts. Why is 

flow-of-funds system of accounts considered as 
the most comprehensive accounting system ? 

Section—C 
(Short Answer Type Questions) 

11. Explain any three of the following concepts : 

3×4=12 
(a) Stock and flow 
(b) Incremental capital-output ratio 
(c) Standard of living 
(d) Operating surplus 
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Lukrd mikf/ dk;ZØe (ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2020 

(,sfPNd ikB~;Øe % vFkZ'kkL=k) 
bZ-bZ-lh--010 % jk"Vªh; vk; ys[kkadu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % iz'u&i=k rhu Hkkxksa esa foHkkftr gSA iz'uksa ds mÙkj 

izR;sd Hkkx ds funsZ'kkuqlkj nhft,A 

 

 Hkkx&v  

(nh?kZ mÙkjh; iz'u) 

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

2×20=40 

1- jk"Vªh; fuoZ`R; vk; dh ladYiuk dks le>kb,A Hkkjr 

esa jk"Vªh; fuo`ZR; vk; vkSj oS;fDrd fuoZ`R; vk; dk 

vkdyu dSls djrs gSa \ 
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2- i;kZ&ys[kkadu dh ladYiuk dks le>kb,A i;kZ& 

ys[kkadu ds eq[; mís'; D;k gS \ i;kZ&ys[kkadu ds 

izfr eq[; n`f"Vdks.k crkb,A 

3- jk"Vªh; iw¡th dh ifjHkk"kk nhft, vkSj blds eq[; ?kVd 

crkb,A blds vkdyu esa D;k leL;k,¡ vkrh  

gSa \ O;k[;k dhft,A 

4- vkfFkZd {ks=k ls vkidk D;k vfHkizk; gS \ ldy 

?kjsyw mRikn (GDP) ds vkdkj] jpuk vkSj vkcaVu esa 

ifjorZu vkfFkZd {ks=k dks fdl izdkj izHkkfor  

djrs gSa \ 

 Hkkx&[k  

(eè;e mÙkjh; iz'u) 

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj nhft,A 

4×12=48 

5- lsok {ks=k ls D;k vfHkizk; gS \ blds ?kVd D;k gSa \ 

Hkkjr esa bl {ks=k ds GDP esa ;ksxnku dks dSls  

ekirs gSa \ 
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6- nksgjh x.kuk dh leL;k D;k gS \ mnkgj.k lfgr 

crkb,A D;k ;g vk; fof/ esa Hkh lEHko gS \ blls 

vki dSls cpsaxs \ 

7- Hkkjr esa vlaxfBr {ks=k ds jk"Vªh; vk; esa ;ksxnku dk 

vki fdl izdkj vkdyu djsaxs \ O;k[;k dhft,A 

8- cktkj ,oa xSj&cktkj lsokvksa esa Hksn Li"V dhft,A 

9- vkfFkZd xfrfof/;ksa dk pØh; izokg le>kb,A 

10- ekSfnzd izokg ys[kkadu fof/ dh ifjHkk"kk nhft,A bl 

ekSfnzd izokg i¼fr dks lokZf/d lEiw.kZ ys[kkadu 

fof/ D;ksa ekuk tkrk gS \ 

 Hkkx&x  

(y?kq mÙkjh; iz'u) 

11- fuEufyf[kr esa ls fdUgha rhu ladYiukvksa dh O;k[;k 

dhft, %   3×4=12 

(d)  LVkWd vkSj izokg 

([k)  o`f¼'khy iw¡th&mRikn vuqikr 

(x)  thouLrj 

(?k)  dk;Zpkyu vfrjsd 
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